Exemple

Calculer les expressions suivantes.
A= 37T—-17x2
B=3x64+2x7
C=4x(2+1)x3
D=20-5-4-1

E= 30— (9—5-2)

F= (445)x (3+2)

G= 10 x [20 — (10 — 3)]

H= (35 —25)— (4 — 1)

I= [T+ 4 —-1)]x[7T—(4—1)]
J= 2% (30 — [10 — (3 — 1)])

Réponses
A= 37—-17x2
=37-34
=3

B=3x64+2x7
=184+2x7
=18+ 14
=32

C=4x(2+1)x3
=4x3x3
=12x3
=36

D=20-5-4-1
=15—-4-1
=11-1
=10

E= 30— (9—5-2)
=30—(4-2)
=30—-2
=28

F= (445) x (342)
=9x(3+2)
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=9x5
=45

G= 10 x [20 — (10 — 3)]
=10 x [20 — 7]
=10x 13
=130
H= (35—-25)—(4—-1)
=10—(4-1)
=10-3
=7
I=[7T+(A-1]x[T—(4-1)]
=[7T+3]x[7T—(4-1)]

=[7+3] x[7—3]
=10 x [7 — 3]
=10x14

=40

J= 2% (30— [10 — (3 —1)])
=2x (30 —[10—2])
= 2% (30 —8)
=2 % (22)
=44



